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QUESTION 1

A developer has the following code:

try {List nameList;Account a;String s = a.Name;namelList.add(s);} catch (ListException le ) {System.debug(\\'
List Exception \\');} catch (NullPointerException npe) {System.debug(\\

NullPointer Exception \\');} catch (Exception e) {System.debug(\\' Generic Exception \\');}

What message will be logged?

A. List Exception

B. NullPointer Exception

C. Generic Exception

D. No message is logged

Correct Answer: B

QUESTION 2
A developer has the controller class below.

public with sharing class myFocController |

public integer prop { get; private s=t;}

)
Which code block will run successfully in an execute anonymous window?
A. myFooController m = new myFooController();System.assert(m.prop !=null);
B. myFooController m = new myFooController();System.assert(m.prop ==0);
C. myFooController m = new myFooController();System.assert(m.prop ==null);
D. myFooController m = new myFooController();System.assert(m.prop ==1);

Correct Answer: C

QUESTION 3

An after trigger on the account object performs a DML update operation on all of the child opportunities of an account.
There are no active triggers on the opportunity object, yet a "'maximum trigger depth exceeded" error occurs in certain
situation. Which two reasons possibly explain the account trigger firing recursively? choose 2 answers

A. Changes are being made to the account during criteria based sharing evaluation
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B. Changes are being made to the account during an unrelated parallel save operation
C. Changes to opportunities are causing cross-object workflow field updates to be made on the account
D. Changes to opportunities are causing roll-up summary fields to update on the account

Correct Answer: C

QUESTION 4

What are two uses for External IDs? (Choose two.)

A. To create relationships between records imported from an external system.

B. To create a record in a development environment with the same Salesforce ID as in another environment
C. To identify the sObject type in Salesforce

D. To prevent an import from creating duplicate records using Upsert

Correct Answer: AD

QUESTION 5

Which tool can deploy destructive changes to apex classes in production?
A. Workbench

B. Salesforce setup

C. Change sets

D. Developer Console

Correct Answer: A
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